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Calculate.

53 7 x 2 = 14 )2-2=0
55 Q9 + 5 = 14 %) 7 + 3 =10
57) 3 - 2 = 1 %) 5+1=6
598 x1=238 60) 3 x 4 =12
61) 6 -3 =3 62 9 x 1=9
63) 7 x 5 = 35 64 5 +2 =17
65 8 x 3 = 24 66 1-1=0
67 7 + 1 = 8 66) 7 x 3 = 21
699 6 + 3 =09 709+ 2 =11
7) 3 + 5 = 8 7210 + 1 = 11
7307 + 2 =9 4 8+ 4 =12
7% 1+ 3 =4 76) 6 x 4 = 24
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77) 4 x 3 = 12 78 9 x 4 = 36
97 +5 =12 80) 7 -5 =2
81) 3 +1 =4 82 4 + 5 =9
83 g x1=26 84) 4 x 4 = 16
8) 1+ 5 =6 86) 6 x 5 = 30
87) 6 -1 =5 88) 1 x 4 = 4
89) 3 -1=2 90) 3 x 5 =15
9 8 +2 =10 92910 -1 =9
93 8 +5 =13 94) 4 x 5 = 20
95 8 -3 =5 9) 5 + 5 =10
97 10 x 5 = 50 9 4 -4=0
9 7 -2 =5 10009 - 1 = 8§
10110 - 3 = 7 10202 + 2 = 4

(c) mathandcoding.org 4



Challenge_7 practice 3

103) 2 x 5 = 10 047 x 1 =7
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